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1. 

a)  b) 

c)  d) 

e) 

2. 

a) 

b) 

c) 

d) 

e) 

3. 

1. 

2. 

3. 



4.    





a)  b)  c) 

d)  e) 

4. 







a) 

b) 

c) 

d) 

e) 

5. 

A.   

B.   

C.   

D.   

A B C D A B C D

a) 1 2 3 4 b) 2 4 1 3

c) 3 2 1 4 d) 4 3 2 1

e) 

6. 

a)  b)  c) 

d)  e) 



7. 

a)  b) 

c)  d) 

e) 

8. ‘   ’  



a)  b) 

c)  d) 

e) 

9. “

”

a)  b)  c) 

d)  e) 

10. 

a)  b) 

c)  d) 

e) 

11. 

A.   

B.   

C.   

D.   

A B C D A B C D

a) 4 1 2 3 b) 1 2 3 4

c) 3 2 1 4 d) 1 4 3 2

e) 

12. 



a)  b) 

c)  d) 

e) 

13. ‘’



a)  b)  c) 

d)  e) 

14.    ______



a)  b)  c) 

d)  e) 
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15. ‘’

a)  b) 
c)  d) 
e) 

16.     

a)  b) 
c)  d) 
e) 

17. ‘ ’   

a) 
b) 
c) 
d) 
e) 

18. 
a)  b)  c) 
d)  e) 

19. 

a)  b) 
c)  d) 
e) 

20. ‘ ’ 

a)  b) 
c)  d) 
e) 

21. 

a)  b) 
c) 
d)  e) 

22. ‘ 
’ 

a) 
b)  c) 
d)  e) 

23. ‘’

a)  b)  c) 
d)  e) 

24. 
a)  b) 
c)  d) 
e) 

25. 

a)  b) 
c)  d) 
e) 

26. 
a)  b)  c) 
d)  e) 

27. 

    







a) 

b)  c) 

d)  e) 

28.  





a)  b) 

c) 

d)  e) 

29. 

a) Paradox - 

b) Antithesis - 

c) Climax - 

d) Analogy - 

e) 

30. ‘

’

a)  b)  c) 

d)  e) 

31. 

a)   

b)   

c)   

d)   

A B C D A B C D

a) 3 1 2 4 b) 1 2 3 4

c) 3 4 2 1 d) 1 4 3 2

e) 

32.     



a)  b)  c) 

d)  e) 

33.      

  



a)  b)  c) 

d)  e) 

34. ‘

’ 

a)  b) 

c)  d) 

e) 

35. ‘    

’______.

a)  b)  c) 

d)  e) 
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36. 

a) 

b) 

c) 

d) 

e) 

37.      



       



a)  b) 

c)  d) 
e) 

38. ‘’   



a)  b)  c) 

d)  e) 

39. ‘  

’



a)  b) 

c)  d) 

e) 

40. 



a)  b) 

c) 

d)  e) 

41. 







a)  b) 

c)  d) 
e) 

42. 



a) 

b) 

c) 

d) 

e) 

43. 

______

a)  b)  c) 

d)  e) 

44. 

a)  b) 

c)  d) 

e) 

45. 



a)  b)  c) 

d)  e) 

46. 

a) 

b) 

c) 

d) 

e) 

47. 

a)  



b)   



c) 



d) 

e) 

48. 

a)  b) 

c)  d) 

e) 

49.   









a)  b) 

c)  d) 
e) 

50. “

” 



a)  b) 

c)  d) 

e) 

51. ‘  ‘ 



a) 

b)  c) 

d)  e) 

52. 

a)  b) 

c)  d) 

e) 

53. 

A.   

B.   



C.   



D.   

A B C D A B C D

a) 3 2 1 4 b) 2 1 4 3

c) 1 4 2 3 d) 2 3 4 1

e) 
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54. ‘’



a)  b) 

c)  d) 

e) 

55. “    

   ”



a)  b)  c) 

d)  e) 

56. 







a)  b) 

c)  d) 

e) 

57. ‘’  



a)  b) 

c)  d) 

e) 

58. 



 



a) 

b) 

c) 

d) 

e) 

59. ‘

’



a)  b) 

c)  d) 

e) 

60. 



a)  b) 

c)  d) 

e) 

61. 

a)   

b)   

c)   

d)   

e) 

62. 

a)  b)  c) 

d)  e) 

63. ‘ ’ 


a)  b) 
c)  d) 
e) 

e) 

64.  ‘
’      

a)  b)  c) 
d)  e) 

65. ‘’

a)  b) 
c)  d) 
e) 

66. 
a)  b) 
c)  d) 
e) 

67. ‘’


a)  b) 
c)  d) 
e) 

68. 
a) 
b)  c) 
d)  e) 

69. 

      


a)  b) 
c) 
d)  e) 

70.  ‘’


a)  b) 
c)  d) 
e) 

71.      

a)  b) 
c)  d) 
e) 

72. ‘’ 


a)  b) 
c)  d) 
e) 

73. ‘    
 ’     


a)  b)  c) 
d)  e) 
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74. 

a)  b) 

c)  d) 

e) 

75. 



a)  b) 

c)  d) 

e) 

76. 

a)  b)  c) 

d)  e) 

77. 

a) 

b) 

c) 

d) 

e) 

78. 



a)  b)  c) 

d)  e) 

79. “”

a)  b) 

c)  d) 

e) 

80. 

a) 

b) 

c) 

d) 

e) 

81. 

a)  b) 

c)  d) 

e) 

82. ‘

’



a)  b) 

c)  d) 

e) 

83. ‘’



a)  b) 

c)  d) 

e) 

84. 

a)  b) 

c)  d) 

e) 

85. ‘’

a) 

b)  c) 

d)  e) 

86.     
   


a)  b)  c) 
d)  e) 

87. 
a) 
b)  c) 
d)  e) 

88. 


a)  b) 
c)  d) 
e) 

89. ‘’
a)  b)  c) 
d)  e) 

90.     


a) 
b) 
c) 
d) 
e) 

91.      ______

a)  b)  c) 
d)  e) 

92.     

a)  b) 
c)  d) 
e) 

93. ‘’


a)  b) 
c)  d) 
e) 

94. ‘’
a)  b)  c) 
d)  e) 

95. ‘’ 


a) 
b)  c) 
d)  e) 

96. ‘’

a)  b) 
c)  d) 
e) 

97.  


a)  b) 
c)  d) 
e) 
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98. 
a)  b)  c) 
d)  e) 

99. “
”

a)  b) 

GENERAL ENGLISH (100)

c)  d) 
e) 

100. ‘   ’ 

a)  b) 
c)  d) 
e) 

1. Identify the superlative degree

a) This is worse than any other book I have read.

b) This is the worst book that I have read

c) This is not so a bad book, as any other book

d) Shakespeare is a popular dramatist.

e) Answer not known

2. Identify the positive degree

a) America is richer than any other country.

b) No other country is as rich as America.

c) America is richer than India.

d) India is richer than China.

e) Answer not known

3. Identify the comparative degree

a) Ram is the worst fellow that I have ever come

across.

b) Ram is worse than any other fellow than I have

come across.

c) No other fellow that I have come across is as bad

as Ram

d) Ram is very bad when compared with other

e) Answer not known

4. Use the positive degree of comparison in the follow-

ing: Japan is one of the wealthiest countries in Asia.

a) Japan is as wealthy as any other country in Asia.

b) Japan is not so wealthy as other countries in Asia.

c) No other country in Asia is so wealthy as Japan.

d) Very few countries in Asia are as wealthy as Japan.

e) Answer not known

5. Transform the following sentence into comparative

degree.

Wordsworth is one of the greatest English poets.

a) Wordsworth is greater than many other English

poets

b) Very few English poets are as great as

Wordsworth

c) No other English poet is as great as Wordsworth

d) Wordsworth is greater than any other English poet

e) Answer not known

6. Find out the error:

Sheela is junior than me

    A       B    C             D

a) A b) B c) C

d) D e) Answer not known

7. Find out the error:

Iron is useful than any other metal

  A    B           C                  D

a) A b) B c) C

d) D e) Answer not known

8. Find out the error:

He is confident off his success

  A  B        C                     D

a) A b) B c) C

d) D e) Answer not known

9. Find out the Error

Not only the doctor / but also the nurses of this nursing

/ home is very kind and helpful / to the attendants.

a) Not only the doctor

b) but also the nurses of this nursing

c) home is very kind and helpful

d) to the attendants

e) Answer not known

10. Find out the error:

Though she is weak she was active

   A             B          C             D

a) A b) B c) C

d) D e) Answer not known

11. Five miles ______a large distance

a) is b) were c) are

d) has e) Answer not known

12. Complete the following sentences using appropriate

prepositions:

He discussed the problem ______ his parents.

a) With b) To c) For

d) By e) Answer not known

13. The trial was conducted _____ the procedure of law.

a) In accordance with b) Due to

c) Despite of d) Inspite of

e) Answer not known
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14. Fill up the blanks:

One _____ the four students wrote the answers

correctly.

a) On b) Off c) Of

d) And e) Answer not known

15. My dog sat ____ my hat and squashed it.

a) On b) An c) Below

d) Beside e) Answer not known

16. Fill in the blanks by using correct preposition:

I work faster _____ night.

a) Than b) Then c) Of

d) At e) Answer not known

17. The judge did not accept the ______ of the criminal

a) Pleas b) please c) pleases

d) None of these e) Answer not known

18. Moist

a) Marshy b) Arid c) Slimy

d) Sultry e) Answer not known

19. Omitted

a) Isolated b) Rejected

c) Contracted d) Included

e) Answer not known

20. Protest

a) Promote b) Apprehend c) Accept

d) Project e) Answer not known

21. Serenity

a) Simplicity b) Anxiety c) Absurdity

d) Stupidity e) Answer not known

22. Identify the sentence pattern :

Brutus is an honourable man.

a) S V C A b) S V O C c) S V C

d) S V IO DO e) Answer not known

23. Identify the sentence pattern of the following :

Raghu was ill last month.

a) SVOA b) SVAA c) SVA

d) SVCA e) Answer not known

24. Identify the sentence pattern :

The boys are playing football now.

a) SVC b) SVOA c) SVAO

d) SVDO e) Answer not known

25. Identify the sentence pattern :

Sheela cooks very well.

a) SVO b) SVC c) SVA

d) SVOC e) Answer not known

26. Identify the sentence pattern :

He is sleeping

a) SV b) SVO c) SVC

d) SVO e) Answer not known

27. The boys want a new car

a) SVO b) SVA c) SVAA

d) SVOA e) Answer not known

28. Scattered

a) Sprinkled b) Multiplied

c) Gathered d) Covered

e) Answer not known

29. Find out the sentence where gerund is used.

a) He agreed to buy a computer

b) To walk is a good exercise

c) She is a singer and dancer

d) I enjoy writing stories for children

e) Answer not known

30. Pick out the sentence that contains a gerund :

a) Protecting children is our Duty

b) After finish the work, he went on a vacation

c) Hearing the noise, the boy woke up

d) Having rested, we continued our journey

e) Answer not known

31. Find the correct sentence where the ‘present parti-

ciple form’ is used .

a) This is a dancing doll

b) Seema is crying now

c) My mother bought a wet grinder

d) These are rotten fruits

e) Answer not known

32. Fill in the blanks with a gerund. —–is his favourite

pastime.

a) To read b) Reading c) The read

d) Read e) Answer not known

33. Monotonous

a) Interesting b) Tiresome

c) Fragrant d) Satisfying

e) Answer not known
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34. Change the following Sentence from the Active Voice

into Passive Voice.

Begin the work tomorrow. / Let the work _____ to-

morrow.

a) be begun b) begin c) is beginning

d) begun e) Answer not known

35. Change the following Sentence from the Active Voice

into Passive Voice.

She has won the first prize. / The first prize __ by her.

a) has won b) has been won

c) had been won d) win

e) Answer not known

36. Change the following Sentence from the Active Voice

into Passive Voice.

She will not recognize us. / We ______ by her.

a) will not recognize

b) will not being recognized

c) will not be recognized

d) will recognize

e) Answer not known

37. Change the following Sentence from the Active Voice

into Passive Voice.

The boy caught the ball. / The ball _____ by the boy.

a) caught b) was caught

c) were caught d) catch

e) Answer not known

38. Change the following Sentence from the Active Voice

into Passive Voice.

Columbus discovered America. / America _______

by Columbus.

a) discovered b) were discovered

c) did discovered d) was discovered

e) Answer not known

39. Sun + light

a) Noun + Verb b) Noun + Noun

c) Noun + Adjective d) Noun + Adverb

e) Answer not known

40. Hair cut

a) Noun + Noun b) Noun +Verb

c) Noun + adjective d) Noun + adverb

e) Answer not known

41. Output

a) Verb + Verb b) Noun + Noun

c) Adjective + Noun d) Adverb + Verb

e) Answer not known

42. Cricket + ball

a) Noun + Noun b) Noun +Verb

c) Noun + adjective d) Noun + adverb

e) Answer not known

43. Father in law

a) Noun + Noun b) Noun + verb

c) Verb + adjective

d) Noun + Preposition + Noun

e) Answer not known

44. Which of the words given below can be placed after

the word cup  to form a compound word.

a) time b) board c) say

d) bite e) Answer not known

45. The boy had to give a proper __________ for being

late. (explain)

a) Explained b) Explanation c) Explain

d) Explaining e) Answer not known

46. They could make __________ about the

future.(predict)

a) prediction b) Predict c) Predicts

d) Prediction e) Answer not known

47. At one point in life, he had no __________ but to

trust his friend. (choose)

a) Choice b) Choose c) Chooses

d) Choosing e) Answer not known

48. The monuments are to be preserved because of their

historical __________. (significant)

a) Significantly b) Signify c) Signifying

d) significance e) Answer not known

49. It is very difficult to work with so many __________

.(distract)

a) Distract b) Distractio c) Distracts

d) Distracted e) Answer not known

50. Fill in the blanks :

________ please close the door?

a) must you b) should you c) ought you

d) could you e) Answer not known
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51. Fill in the blanks :

_______ please open the window?

a) must you b) could you c) should you

d) ought you e) Answer not known

52. Fill in the blanks :

______ mind going to the back bench?

a) ought you b) must you c) would you

d) should you e) Answer not known

53. Fill in the blanks :

_______ please bring some water for me?

a) must you b) could you c) should you

d) ought you e) Answer not known

54. They came early but there was ______ work to do.

a) Little b) A little c) Nothing

d) Both (a) and (b) e) Answer not known

55. Frivolous

a) Serious b) Sad c) Furious

d) Happy e) Answer not known

56. Find out the correct plural form : Radius

a) Radii b) Radi c) Radiuses

d) a & C e) Answer not known

57. Match the following

A. Table 1. Dolls

B. Lamp 2. Lamps

C. Doll 3. Tables

A B C A B C

a) 1 2 3 b) 2 1 3

c) 2 3 1 d) 3 2 1

e) Answer not known

58. Overstep

a) Adverb + Verb b) Adjective + Noun

c) Noun + Noun d) Noun + Adverb

e) Answer not known

59. Find the Plural of Scissors

a) Scissors b) Scissores c) Scissor

d) Scissores e) Answer not known

60. Find out the correct plural form : Bacterium

a) Bactieria b) Bactierias c) Bacteria

d) Bacterias e) Answer not known

61. Read the sentences carefully and fill in the blanks

with suitable tense from of the verbs given in

brackets:

The doorbell rang, while I _____ (do) my homework.

a) Had one b) Was doing c) Doing

d) Am doing e) Answer not known

62. Grandmother

a)  Adverb + Verb b)  Adjective + Noun

c) Noun + Noun d) Noun + Adverb

e) Answer not known

63. Read the sentences carefully and fill in the blanks

with suitable tense from of the verbs given in

brackets:

The television was on but nobody ______ (watch) it.

a) Were watching b) Was watching c)Watching

d) Watched e) Answer not known

64. Fill in the blanks using the verbs in the brackets in the

form:

She hopes you _____ her. (help)

a) Will help b) Help c) Helped

d) Helping e) Answer not known

65. Read the sentences carefully and fill in the blanks

with suitable tense from of the verbs given in

brackets:

Mary fell asleep while she _____ (read) a book.

a) Read b) Were reading

c) Was reading d) Will beveading

e)Answer not known

66. Fill in the blanks using the verbs in the brackets in the

form:

I _____ my sister’s house next April if I go to

uttarkhand.(visit)

a) Visited b) Visiting c) Will visit

d) Visits e) Answer not known

67. Underline the verbs and udentify the tense forms:

Were the milk men milking the cow?

a) Past continuous

b) Present continuous

c) Past perfect continuous

d) Present perfect continous

e) Answer not known
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68. Sabithra ______ her job by tomorrow evening.

a) Will be completing

b) Will complete

c) Will have completed

d) Will have been completing

e) Answer not known

69. He usually _____ a cup of coffee every day.

a) Drank b) Drink c) Drinking

d) Drinks e) Answer not known

70. Diamond hard

a)  Adverb + Verb b) Noun + Adjective

c) Noun + Noun d) Noun + Adverb

e) Answer not known

71. Synonyms of harsh

a) Rough b) Smooth c) Ductile

d) Light e) Answer not known

72. Synonyms of doth

a) Doing b) Does c) Done

d) Did e) Answer not known

73. Synonyms of whisper

a) Harsh voice b) Gruff voice c) Angry voice

d) Low voice e) Answer not known

74. Synonyms of accents

a) Disinterest b) Emphasise c) Annotate

d) Degrade e) Answer not known

75. Synonyms of anxious

a) Feeling worried b) Showing worry

c) Feeling happy d) Both (a) and (b)

e) Answer not known

76. Synonyms of grieve

a) Happy b) Anger c) Protect

d) Sorrow e) Answer not known

77. Replace the underlined British word with its Ameri-

can equivalent.

Children like Sweets.

a) Cookies b) Crisps c) Sweets

d) Candy e) Answer not known

78. Synonyms of endure

a) Enjoy b) Suffer patiently

c) Murmur d) Grean

e) Answer not known

79. Synonyms of toiled

a) Enjoyed b) eleborate c) Work hard

d) Disappear e) Answer not known

80. Synonyms of vain

a) Happy b) Producing no results

c) No enjoyment d) Untiring

e) Answer not known

81. Synonyms of stubborn

a) One  willing to change one’s opinion.

b) One refusing to change one’s opinion

c) One desiring to change one’s opinion

d) One wanting to change one’s opinion

e) Answer not known

82. Synonyms of strife

a) Disagreement b) Peace c) Tranquility

d) Sorrow e) Answer not known

83. Synonyms of eternity

a) Grand b) Beautiful

c) Endless, no end d) Profected

e) Answer not known

84. American English word for “Aeroplane”.

a) Aeroplane b) Airplain c) Airplane

d) Aerplane e) Answer not known

85. American English word for Neighbour?

a) Neighbour b) Neighbor c) Neighbour

d) Neighbore e) Answer not known

86. American English word for Apologise.

a) Apology b) Apologra c) Apologize

d) Apolo e) Answer not known

87. Replace the underlined word with its American

equivalent.

She hired a taxi to the airport.

a) Cycle b) Cab c) Bike

d) Tricycle e) Answer not known

88. Replace the underlined British word with its Ameri-

can equivalent.

The lorry met with an accident.

a) Van b) Truck c) Cab

d) Car e) Answer not known

89. Replace the underlined British word with its American

equivalent.

The hike in the price of Petrol is resented.

a) Fuel b) Gasolinec) energy

d) Petrol e) Answer not known
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90. The American English equivalent of the word ‘Pave-

ment’ is

a) Pathway b) Sidewalkc) Corridor

d) Passage e) Answer not known

91. Choose the correct synonyms for the underlined words

You are always self-centred.

a) egoistic b) generous c) heroic

d) none e) Answer not known

92. Directions : Find out the type of sentence

Hearing their father’s footsteps, the boys ran away.

a) simple b) compound c) complex

d) none of these e) Answer not known

93. Directions : Find out the type of sentence

I shall do it now or I shall not do it at all.

a) simple b) compound c) complex

d) none of these e) Answer not known

94. Directions : Find out the type of sentence

Ramu is so poor that he cannot buy a bicycle

a) simple b) compound c) complex

d) none of these e) Answer not known

95. Directions : Find out the type of sentence

We must eat to live, but we should not live eat.

a) simple b) compound c) complex

d) none of these e) Answer not known

96. Form a new word by blending the words : Helicopter

+ Airport

a) Airport b) Aerodrome c) Heliport

d) Aerocopter e) Answer not known

97. International + Police

a) International police b) National pol

c) Interlice d) Interpol

e) Answer not known

98. Match column A with B, and select the correct an-

swer from the codes given

Column A Column B

A. International + Police 1. Moped

B. Education+ Entertainment 2. Electrocute

C. Motor + Pedal cycle 3. Interpol

D. Electro + execute 4. Edutainment

A B C D A B C D

a) 3 4 1 2 b) 3 1 2 4

c) 3 1 4 2 d) 3 4 2 1

e) Answer not known

99. Fourteen + night

a) Fourteenight b) Fortnight c) Fourtynight

d) Fourtnight e) Answer not known

100.Motor + bike

a) Motor bikes b) Mobike c) Motorke

d) Torbike e) Answer not known

APTITUDE (25)

101.Simplify /

48 3 108 2 27 192  

a) 3 b)  c) 2 3 d) 3 3

e) Answer not known/

102.What will be the next term of the following series

3 1 1 1
, , , ......

16 8 12 18

3 1 1 1
, , , ......

16 8 12 18
 

a)
1

24
b)

1

27
c)

2

3
d)

1

81

e) Answer not known/

103.Find the sum of 152+162+172+......+282

152+162+172+......+282 

a) 9966 b) 9696 c) 6969 d) 6699

e) Answer not known/

104.How many days are there in x weeks x days?

x x 

a) 7x2 b) 8x c) 14x d) 7

e) Answer not known/

105.Two dice are rolled together, find the probability of

getting a doublet (or) sum of face as 4?
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





a)
1

9
b)

2

9
c)

4

9
d)

5

9

e) Answer not known/

106.A and B together can do a piece of work in 16 days

and A alone can do it in 48 days. How long will B take

to complete the work?

A B

A 

  B    



a) 6 days/ b) 12 days/

c) 18 days/ d) 24 days/

e) Answer not known/

107.The area of a square & a rectangle are equal. If the

side of a square is 40 cm & the breadth of the rect-

angle is 25 cm, then the length of the rectangle is



    



a) 58 cm/ b) 60 cm/

c) 64 cm/ d) 69 cm/

e) Answer not known/

108. In how much time will a sum of Rs.1,600 amount to

Rs.1,852.20 at 5% per annum compound interest?

 



a) 1 year/ b) 2 years/

c) 3 years/ d) 4 years/

e) Answer not known/

109.Principal = Rs.4,000, r = 5% p.a, n = 2 years, interest

compounded annually

    r   n  



a) `320 b) `410 c) `280 d) `450

e) Answer not known/

110.A heater uses 3 units of electricity in 40 minutes. How

many units does it consume in 2 hours?



     



a) 4 units/ b) 8 units/

c) 9 units/ d) 7 units/

e) Answer not known/

111. If A:B = 6 : 12, B : C = 9: 27, find the ratio of A : B: C?

A:B = 6 : 12, B : C = 9: 27 A : B: C 



a) 2 : 6 : 1 b) 1 : 2 : 6 c) 1 : 6 : 2 d) 2 : 1 : 6

e) Answer not known/

112. If one third of a tank holds 45 litres of water, then find

the quantity of water that half of the tank hold is

 





a) 90 l/ b) 22.5 l/ c) 67.5 l/ d) 30 l/

e) Answer not known/

113.Find GCD of 2x2-18 and x2-2x-3

2x2-18 x2-2x-3  

a) (x+3) b) (x-3) c) (x+1) d) (x-1)

e) Answer not known/

114. If GIVE is coded as 5137 and BAT is coded as  924,

how is GATE coded?

GIVE BAT 

 GATE 

a) 5427 b) 5724 c) 5247 d) 2547

e) Answer not known / 

115.8 C M @ N £ T 2 Y 6 S  Q $ 7   W # Z 3 U E % A 4

If all the vowels are dropped from the above series,

which of the following would be the eighth element

to the right of the thirteenth element from the left

end?

8 C M @ N £ T 2 Y 6 S  Q $ 7   W # Z 3 U E % A 4

    







a) 4 b) 8 c) % d) C

e) Answer not known / 
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116.A can do a piece of work in 10 days and B can do it in

15 days. How much does each of them get if they

finish the work and earn Rs.1,500?

a) Rs.600, Rs.900 b) Rs.700, Rs.800

c) Rs.800, Rs.700 d) Rs.900, Rs.600

e) Answer not known

A  B 

 

    



a)  b) 

c)  d) 

e) 

117.P and Q can do a piece of work in 20 days and 30 days

respectively. They started the work together and Q

left after 5 days of work and P finished the remaining

work in 5 days. After how many days from the start

did Q leave?

a) 6 days b) 8 days c) 9 days d) 10 days

e) Answer not known

P Q 



Q

  

 P     

    Q



a)  b)  c)  d) 

e) 

118.Curved surface area of a solid sphere is 36 cm2. If the

sphere is divided into two hemisphere then total sur-

face area of one of its hemisphere is (in cm2)

2

  



a) 9 b) 12 c) 18 d) 27

e) Answer not known / 

119.The difference between compound interest and

simple interest for 2 years at 6% is Rs.18. Find the

principal.

a) Rs.5,100 b) Rs.5,000 c) Rs.5,500 d) Rs.5,200

e) Answer not known





a)  b)  c)  d) 

e) 

120.A principal becomes Rs.17,000- at the rate of 12% in
3 years. Find the principal amount.

a) Rs.14,000 b) Rs.12,500

c) Rs.15,200 d) Rs.13,500

e) Answer not known

   


a)  b) 

c)  d) 

e) 

121.Ram deposited Rs.200 at the beginning of every
month in R-D and received Rs.19,656 at the end of 6
years. Find the rate of S.I paid by the bank.


 (R-D)  
   


a) 8% b) 10% c) 12% d) 9%

e) Answer not known / 

122. If x : y = 1:3, then (7x+3y) : (2x+y) = ?

x : y = 1:3 (7x+3y) : (2x+y) = ?

a) 4 : 5 b) 5 : 16 c) 5 : 4 d) 16 : 5

e) Answer not known / 

123.Find the L.C.M of (x3 - 27), (x-3)2, (x2 - 9)

(x3 - 27), (x-3)2, (x2 - 9) 

a) (x-3)2 (x+3) (x2+3x+9) b) (x-3)2 (x+3)

c) (x+3)2 (x-3) d) (x+3) (x2+3x+9)

e) Answer not known / 

124.Find the HCF of 
2 4

,
3 5

and
6

25
is

2 4
,

3 5
 

6

25


a) 2 b)
2

25
c)

2

75
d)

6

25

e) Answer not known / 

125.What percent of a day is 3 hours?



a) 12
1

2
% b) 16

2

3
% c) 18

2

3
% d) 22

1

2
%

e) Answer not known / 
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126.Who was been named ICC women’s cricketer of the

year 2021?

a) Smriti Mandhana b) Mithali Raj

c) Harman Preethi Gaur d) Poonam Rawath

e) Answer not known





a)  b) 

c)  d) 

e) 

127.Which state high court is all set to become India’s

first paperless court?

a) Calcutta b) Mumbai

c) Ernakulam d) Chennai

e) Answer not known

    



a)  b) 

c)  d) 

e) 

128. Indian Navy conducts PASSEX exercise with which

country?

a) France b) America

c) Australia d) Russia

e) Answer not known

(PASSEX)



a)  b) 

c)  d) 

e) 

129.Statement 1: For lok sabha election, expenditure

limits have been increased from 54 lakh rupee to 75

lakh rupee in bigger states

Statement 2: For Assembly constituencies,

expenditure limits have been increased from 20 lakh

rupee to 28 lakh rupee in bigger states.

a) Statement 1,2 wrong

b) Statement 1 wrong, statement 2 True

c) Statement 1 true, statement 2 wrong

d) Statement 1, 2 true

e) Answer not known



    





    



a)  b) 

c)  d) 

e) 

130.Who won the 79th golden globe award for the best

actor category?

a) Mahershala Ali b) Bendict Cumberbatch

c) Will Smith d) Javier Bardem

e) Answer not known





a)  b) 

c)  d) 

e) 

131.Which state has been adjudged as the best state in

water conservation efforts in 3rd National water

award?

a) TamilNadu b) Kerala

c) Madhya pradesh d) Uttar pradesh

e) Answer not known

    





a)  b) 

c)  d) 

e) 

132.Where was the first water taxi service launched in

India?

a) West Bengal b) Maharashtra

c) Uttar pradesh d) Karnataka

e) Answer not known





a)  b) 

c)  d) 

e) 

133. ISRO’s chairman S.Somnath Singh belong to which

state?

a) Kerala b) Telangana

c) Karnataka d) Uttar pradesh

e) Answer not known

 ISRO 

   



a)  b) 

c)  d) 

e) 

GENERAL STUDIES (25)
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134.Who was appointed as new chief economic advisor

(18th) of central government?

a) Krishnamoorthi Subramaniyan

b) Arvindh Subramaniyan

c) Anandh Nageswaran

d) Raguram Rajan

e) Answer not known





a) 

b) 

c) 

d) 

e) 

135.Which state got its first ever scientific bird atlas?

a) Kerala b) West Bengal

c) Maharashtra d) Madhya pradesh

e) Answer not known

 



a)  b) 

c)  d) 

e) 

136.Match (Tamil Development Award 2021)

A) Sollin selvar award 1. Naanjil Sambath

B) Anna award 2. Surya Xavier

C) Kambar award 3. Nellai Kannan

D) Ilangoadigal award 4. Bharathi Baskar



A)   

B)   

C)   

D)   

A B C D A B C D

a) 2 1 4 3 b) 4 3 2 1

c) 3 4 1 2 d) 2 3 4 1

e) 

137.Which state was selected for implementing

Information technology applications in elections

during National voters day?

a) Kerala b) West Bengal

c) Uttar pradesh d) TamilNadu

e) Answer not known



    





a)  b) 

c)  d) 

e) 

138.Which tiger reserve wins TX2 award for doubling tiger

population since 10 years?

a) Mundanthurai b) Anamalai

c) Sathyamangalam d) Madumalai

e) Answer not known

    

   

 (TX2 Award)



a)  b) 

c)  d) 

e) 

139.Who is the chairman of 5th police commissionarate

established by Tamilnadu government?

a) Allaudin b) Selvam

c) Radha krishna d) Nalini Rao

e) Answer not known

   



a)  b) 

c)  d) 

e) 

140.Match (Archaelogical sites)

A) Mayiladumpaarai 1. Krishnagiri

B) Vembakottai 2. Viruthunagar

C) Thulukarpathi 3. Tirunelveli

D) Perumpalai 4. Dharmapuri

 

A)   

B)   

C)   

D)   

A B C D A B C D

a) 1 2 3 4 b) 4 1 2 3

c) 4 2 1 3 d) 2 4 1 3

e) 

141.Which state stood first in the country in the list of

highest number of open defecation free village?

a) TamilNadu b) Telangana

c) Karnataka d) Gujarat

e) Answer not known



(Open Defecation Free

(ODF) Plus) 

a)  b) 

c)  d) 

e) 
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142.Which state gets freight train connectivity for the

first time in 75 years?

a) Nagaland b) Sikkim

c) Assam d) Manipur

e) Answer not known



     



a)  b) 

c)  d) 

e) 

143.Which is the first Indian city to have a water metro

project?

a) Mumbai b) Kolkata

c) Kochi d) Hyderabad

e) Answer not known

(Water Metro Project)



a)  b) 

c)  d) 

e) 

144.Which state has become the first LPG enabled and

smoke free Indian state?

a) Himachal pradesh b) Jharkhand

c) Madhya pradesh d) Uttarakhand

e) Answer not known

 (First Smoke

free state) LPG 



a)  b) 

c)  d) 

e) 

145.Who was the author of Fearles Governance.

a) Ruskin bond b) Kiran Bedi

c) Jody kurtz d) Sasitharan

e) Answer not known

 (Fearless Governance) 



a)  b) 

c)  d) 

e) 

146. India’s women hockey team won bronze medal in Asia

Hockey by defeating which country?

a) England b) Australia

c) New zealand d) China

e) Answer not known





a)  b) 

c)  d) 

e) 

147.National youth day observed on?

a) January 10 b) January 9

c) January 12 d) January 6

e) Answer not known



a)  b) 

c)  d) 

e) 

148.National Voters day observed on ?

a) January 24 b) January 19

c) January 15 d) January 25

e) Answer not known



a)  b) 

c)  d) 

e) 

149.Who is the Pakistan’s first woman supreme court

judge?

a) Aysha malik b) Mahireen

c) Samerakhan d) VaashilaYaasmin

e) Answer not known





a)  b) 

c)  d) 

e) 

150. India signed a pact with which country to export

BrahMos supersonic cruise missiles?

a) France b) Singapore

c) Philippines d) Malaysia

e) Answer not known

   

    



a)  b) 

c)  d) 

e) 


